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QUESTI(%I\@XEAA\%ER SPECIFIC INSTRUCTIONS

<

(Please read each of ing instructions carefully before attempting questions)

There are TWENTY q 13§e§11 M% prlnted both in HINDI and in ENGLISH.
&

All questions afé"g(} \&é\ﬁ’s ory.
The number o&’fﬁaﬁs carried by a question/part is indicated against it.

.& t‘*bg‘&ivntten in the medium authorized in the Admission Certificate which

@e “clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
ided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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. FAfeH ¥ IM-ARF FaA q% w3k s &3 #§ wfea qiEdAl #t W@iftea ikl
(I® 150 w=at # i)

Underline the changes in the field of society and economy from the Rig Vedic to the
later Vedic period. (Answer in 150 words)

. <& wrd | Fen 9 Aifed F fo # Fih F ugal % AEA w1 g Hifvg)
(IW 150 w31 ¥ i)

Estimate the contribution of Pallavas of Kanchi for the development of art and

literature of South India. (Answer in I 5022!\vords)
oS
S \lt
.éﬁqtﬁmﬁeﬁﬁm@smwwmwgw?ﬁqﬁwﬁﬁ SR
(m SQEW% % 4ifir)

What were the events that led to the Quit India Movement? P}}’@é% s results.
er in 150 words)

f“"“‘"s\&”‘"’“‘“
) mm%wﬁg&w%?%mmm%ﬁmfﬁﬁnwﬁam?

Songy, Y (3 150 wsait ¥ ifsw)
What is sea surface temperature rise? How doggf‘(ﬁffect the formation of tropical
R

{'3

cyclones? P (Answer in 150 words)
R ”zi
. BR W& i go & 98 TR amua% ﬁwﬁﬁamﬁ?m%ﬁﬁf@ﬁﬁ%
O 3
e ) B A ’Q (3R 150 7=t # Af)
Why do large cities tend to attracf{more migrants than smaller towns? Discuss in
the light of conditions .in ,él‘e oplng countries. (Answer in 150 words)
)
T
‘I Fed ﬁvﬁaﬂ@ﬁﬂw Hfsm) (3W 150 wi=at # €ifsmy)
N
What is the phgn%éhon&f ‘cloudbursts’? Explain. (Answer in 150 words)

@@%w
. awm%(ﬁumm)ﬁmmw%?w%gﬁm@ﬁf@ﬁﬁmm%?
ﬁ!@n %m@ (IW 150 w=ai # <ifv)

‘Tiiﬂa‘s‘*‘
J*g %e concept of a ‘demographic winter’? Is the world moving towards such a

s1tu§_10n’> Elaborate. (Answer in 150 words)

. AT FHMAT, SRR fsqerd wd Afgen qeirato % @9 o) # wE A1) S Y gierea sk
FEE § Al TWER B wE § @ b Aee 27 (FW 150 =t & ifvm)

Distinguish between gender equality, gender equity and women’s empowerment.
Why is it important to take gender concerns into account in programme design and

implementation? (Answer in 150 words)
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Intercaste marriages between castes which have socio-economic parity have
increased, to some extent, but this is less true of interreligious marriages. Discuss.
(Answer in 150 words)

o & wriforn-anfie gei @ fued # wwr, R-gwd @t @ fsh & % e fre TR @
A waifs IgEed gem? (IW 150 =<t # <ifr)

In dealing with socio-economic issues of development, what kind of collalforation
between government, NGOs and private sector would be most producti I;i
(Answer @mrds)
’?’"‘}gk %@
Eﬂﬁ%%mwwqﬁ%ﬁﬁﬂmmam% s gy IwatRn ¥
Fro ft ft 3¢ aga ™ | I R s ) Rooft il R C;W 50 =t | i)
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“Though the great Cholas are no more yet their name is sumrelﬁwmbered with great

pride because of their highest achievements in the dongét é‘f*‘&‘t and architecture.”
{;‘
Comment. {fw %&% Answer in 250 words)
%mﬁwsﬁa%%nwﬁmqmwﬁs %wﬁ%ma@ﬂmm?
o5 % ' (IW 250 w3t F €ifore)
How far is it correct to say that the Eé‘;gg@warld War was fought essentially for the
preservation of balance of power2, R & (Answer in 250 words)
?& ix&‘rz\
mﬁsﬁlﬁmaﬁtwwﬁ%%\g Tz A sieifs F Fel o IoEE A
(W 250 Ti=a1 F difsw)
How far was the Industxﬁa.h%volutlon in England responsible for the decline of
handicrafts and cottage‘“gnﬁu%tnes in India? (Answer in 250 words)
&‘sw‘}&&‘{:\%\#
X
LR I E W‘@ﬂtﬁ%qaz 3 @ R TR R h GG B HFY Wl R T B7
Sy (IW 250 wi=At # difw)
The groun%at‘é%: potential of the gangetic valley is on a serious decline. How may it
affect t.@e fqﬁki security of India? (Answer in 250 words)

é&i ns®
%\ 3R AR Sifefem @ §7 3 $A 3ARa B §7 (FW 250 w=at # <ifomg)

Whai% are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words)

fet = R7 AR i @t F uw F & § v e W@ @ wm €

(I 250 =31 & difs)
What is a twister? Why are the majority of twisters observed in areas around the
Gulf of Mexico? (Answer in 250 words)
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mmwﬁ?ﬁﬁﬁwémmﬁaﬁ a3 &g S| 6 gen fora e /7
(IW 250 w1 # Eifm)

What is regional disparity? How does it differ from diversity? How serious is the
issue of regional disparity in India? (Answer in 250 words)

THeE 3R A ™ ) e el % s, onft 9 afva a B wfum g aReie
FHRTHH Hiars 1 g0 o T e @ ) feooh Hifvw) (IW 250 =3t § difR)

Despite comprehensive policies for equity and social justice, underprivileged
sections are not yet getting the full benefits of affirmative action envisaged by the
Constitution. Comment. (Answer in 250 mrds)

i 3 fafim @il A 37, wﬁmqﬁwﬁmmmﬁqﬁﬁ%m&
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Globalization has increased urban migration by skilled, young, ug&%&d women
from various classes. How has this trend impacted upon their ﬁ&s%@‘éli?reedom and

relationship with family? (&‘iﬁ% e’&n 250 words)
waﬁmwa@amﬁ@wﬁﬁqﬁmﬁm; '"@Rwﬁ%-:ﬂﬁ?ﬁ
dimiqarelt & s T TEq dEEeY R o ~?§§(3ﬂt250:rrétﬁé1ﬁnz)
Critically analyse the proposition that there is @ %‘@gﬁrelaﬁon between India’s
cultural diversities and socio-economic margin .xa Ve (Answer in 250 words)
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